BEYLS CBSE Class 12 Chemistry Question Paper 2014
CHEMISTRY (Theory)
e ﬁ ) WA fagm (a@ﬁiﬁ) Maximum Marks : 70

Time allowed : 3 hours
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" General Instructions :

()  All questions are compulsory.

(i)  Questions number 1 to 8 are very short-answer questions and carry
-1 mark each.

(iit)  Questions number 9 to 18 are short-answer questions and: carry 2 marks
each.

(iv) Questions number 19 to 27 are also short-answer questions and carry
3 marks each.

(v). . Questions number 28 to 30 are long-answer.questions and carry 5 marks
each.

(vi)  Use Log Tables, if necessary. Use of calculators is not allowed.

1. il geg Sonadt F AR 2 1
Why is adsorption always exothermic ?

2. fod & Mg & fon ygw T = T fofaw | 1
Name the method that is used for refining of nickel.

3. NO, =i fgma (S99 219) smr @ ? 1
Why does NO, dimerise ?
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fvereh aeil % MMM R Finfiv fhe or 1 95es 8 2 1

Based on molecular forces what type of polymer is neoprene ?
UTeeIH & Tel-3Teed o IeUTe 947 8 2

What are the products of hydrolysis of maltose ?

| 4-FARNYA-2-31 Y d= fafau | 1

Write the structure of 4-chloropentan-2-one.

ﬁmaﬁéﬁﬁﬁamaﬁmﬁq vy 1
/\/ /\/\

Identify the chiral molecule in the following pair :

A/ VAVA

 wrafirer WA WAt F SRRt aul § aiEd w T W A SH S

27 1

The conversion of primary aromatic amines into diazonium ‘salts is
known as

=1 el 1 I 0 & e e cwas & T fafa - 2
G A
(i) TEAH-6, 6

Write the name of monomers used for getting the following polymers :

(@) Terylene

Gi) Nylon-6, 6
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10.

11.

12,

- 13.

1 % =i =1 TR Hifve - 2
()  HW A (matte) ¥ HR F Femgu & Si0,

(i) % % TA § NaCN i

Describe the role of the following :

(@  SiOy in the extraction of copper from copper matte

(i) NaCN in froth floatation process

fra T 3 B 2
@ Ag+PCL—

(i) CaF,+H,S04—>

‘Complete the following equations :

@ Ag+PCl—
G) CaF,+H,80,—

= it gegd sse 2
i  XeF,

(i) HCIO, .

Draw the structures of the following :

@®  XeF,-

(i) HCIO,

@) & gehE o fyula fanett # wEEH @ o TR % TWE H
Ty X R 7 at fha TR 1 gresa <@ I g, fafaw |
() AT wEwuidE 3 hed & 99a i 18 9gad ? 2

(i) Write the type of magnetism observed when the magnetic-
moments are oppositively aligned and cancel out each other.

(i1) Which stoichiometric. defect does not change the density of the
crystal ?
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[ @ocyous | —
14, T 7q) Sl IRWIETY QT ;- 2
@) FAE
Gi) HmAEg WIer T (Al,)
Define the following terms : -
@)  Fuelcell

(i) Limiting molar conductivity (/\om.)
15. T aAfisean <6t fopaiafy forRae 2
HBr -
CH3CHyOH ——— CH3CHyBr + HyO
Write the mechanism of the following reaction :
HB
CH3CH,0H —— CHgCH,Br + H,0

16. U varis ANfha, R — P & g, 999 (t) % 9fd aigar (R) ® sRada =i
9 7T o fo@ma T R | 2

ING

t—>
G 38 AffEn | B (order) FImE |
() I HI aUI (IAF) T _R 2

For a chemical reaction R — P, the variation in the \concentration (R) vs.
time (t) plot is given'as.

a\

~t.—>

@)  Predict the order of the reaction.
(i) What is the slope of the curve ?

5

https-ibwjus.com



https://byjus.com/?utm_source=pdf-click

@BYJUs 17,

18.

19.

20.

T 2:8 g em™ Bl Th T B hisd BN (Fe.c.) THR Hl AFH §
T 2 fomsh PR i 9% 4 x 108 em R | T T H AR FEAR
IRerfad HINT |

2
(fn ™ 2 N, =6-022 x 1023 W@ )
An element with density 2:8 g cm™ forms a f.c.c.; unit cell with edge
length 4 x1078 cm. Calculate the molar mass of the element.
(Given: N, =6-022 x 102 mol™)
T sifufrett @ wefRa adie fafe 2
G TR - & Afufwn
() fafcrmea ST (synthesis)
Write the equations involved in the following reactions :
(i) Reimer - Tiemann reaction
@) Williamson synthesis
= o3t <t g S 3
@) - B e
(i) a9 wRT
(i) rfMaRTss

Define the following terms :
@  Glycosidic linkage
(@) Invert sugar

(i) Oligosaccharides

fowm w@rey Rag & 9w W, . gaud 4 @ & i # @ I S6A

Frar & T T rer S @ | ST F 9%, I I8 o8, W aTH A
5 SR feamsl & grh # o % FRu fHaE § 9 AR B FIR H=
A B T o | A @ gt B wge oft o | 3 I g iRt aid |

¥, GaU 3§ 39 91 B G dehlel AT T U528 HMeH (NHRC) A

# | NHRC % gt W §&R 3 e Ren 6t sfaed weman ok R
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@evus m@‘ﬁﬁamﬁf{m%mﬁmﬂﬁ [ UM < THIF Sl Jh
mmmgﬁmaréamm@éml

@) (a) 3. qau 3R (b) NHRC g <uTE T =1 rd fafaa |

Pt T e pu——y
e R A E?

i) TR F A ¥ fre geme T FHw agERt # F FRdt o = sgE@
QT | 3

On the occasion of World Health Day, Dr. Satpal organized a ‘health camp’
for the poor farmers living in a nearby village. After check-up, he was
shocked to see that most of the farmers suffered from cancer due to regular
exposure to pesticides and many were diabetic. They distributed free
medicines to them. Dr. Satpal immediately reported the matter to the
National Human Rights Commission (NHRC). On the suggestions of
NHRC, the government decided to provide medical care, financial
assistance, setting up of super-speciality hospitals for treatment and

prevention of the deadly disease in the affected villages all over India.

@)  Write the values shown by
(@ Dr. Satpal
(» NHRC.

(i) What type of analgesics are chiefly used for the relief of pains of

terminal cancer ?-

(i) Give an 'e-‘xample of artificial sweetener that could have been
recommended to diabetic patients.
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21,

THTaRed % FHRW [RAT : 3

@) e WA (RgN) < gom § mfies Wi (R-NH,) % F9His I=®
A

G)  Ufelin PR - e sifrfeen 7 3 |

Gi) i foetad o (CHy)sN = ToHT 3 (CH,),NH 3ifireh &t areft 2 |

porar
T afifsrnatt 7 A, B 3tk ¢ Y g G - 3
, Sn+ HCI ~ NaNO, + HCI H,0
(1) CGH5NO2 A B C
273K
H,0/H* Br, + KOH
(i) CHyCN —— Nf“” ;W

Account for the following :

()  Primary amines (R-NHj) have higher boiling point than tertiary
‘amines (RgN).

(i)  Aniline does not undergo Friedel — Crafts reaction.

(iii)) (CHg)oNH is more basic than (CH3)4N in an aqueous solution.
OR

Give the structures of A, B and C in the following reactions

M 973K
H,0/H* Br, + KOH
() CHCON = A Nsoop TR C
8
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22, (2) T ¥ s AMAGHT % YgE TheweHl eIl hl HEEAT SEY ;

(ii) @— CH,-CH=CHy+HBr —

®) = g d PR e e Sy2 Jfife § afts dea &
Afufshan wum ;-

(i) CHgBr 39l CH,l
(i) (CHg)3C~-Cl J¥@1 CHz-Cl 3

(@  Draw the structures of major monohalo products in each of the
following reactions :

| PCl
@) <} CH,OH |
(i) @ CH,- CH = CH, + HBr

(b)  Which halogen cémpound in each of the following pairs will react
faster in Sy2 reaction :

() CHgBr or CHgl
(@) (CHg)3C-Cl or CH3~Cl

23. (@) Afufsran
Mg (s) + Cu®* (Scld) — Mg?* (Fe1d) + Cu (s)

© % Torw A G° uftefera ifv |
TR By =+ 271V, 1F=96500 CHia -1
(b) WA (Apollo) HaRH T % fou fagq ofe sode =M & fae
WIh A & JHR 51 AW fafay | 3

9
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24.

250

(@ Calculate A G’ for the reaction
Mg (s) + Cu** (ag) - Mg* (aq) + Cu (9)
Given: By =+2:71V, 1 F=96500 C mol™

(b) Name the type of cell which was used in Ap_ollp. space programme
for providing electrical power.

fR s e § S0,CL, % Yum AR ¥ i fmen F dw SefRea
S0,Cl, (W) > SO, (W) + Cl, ()

W | TRl O6d qe/agHEd

1 0 0-4
2 100 0-7
31 Fraare dierfaa Hife | 3

(feam 2 R : log 4 = 0-6021, log 2 = 0-3010)

The following data were obtained during the first order thermal
decomposition of SO,Cl, at a constant volume

80,Cl; (g) — S0,(g) + Cly(g)

Experiment Time/s? Total pressure/atm
1 0 0-4
e [ w | e

Calculate the rate constant.
(Given : log 4 = 0-6021, log 2 =0-3010)

I T A 2?2 T i yon w1 € 7 TS TR W g
qf | 3
What are emulsions ? What are their different types ? Give one example

of each type.
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26.

217.

28.

frfafaa & wror e - 3

@ (CHysP =0 I 1T @ R (CHg)y N = O T& firerat |

() IR TH FA B TONAS g aehl TS B AR Foew i uE
o & fore 0 g R |

(i) HyPO, % N1 HyPO, A Jaet 7= ¢ |

Give reasons for the following :

i) (CHg)3 P =0 exists but (CH3)3 N = O does not.

- (1) Ozxygen has less electron gain enthalpy with negative sign than

sulphur.

(iii) H3PO,is a stronger reducing agent than H3POs.

() ER [Cr(NH,), Cl,]C1% TUPAC W faifEg |

(i) FH [Colen)s]®* for8 YR it Turagamr few@mr R 2
(en =399-1,2-ST3WHF)

(i) [NiCl)* & IIT=eh JdT ] Saf% [Ni(CO),) Thagrashia giar @ ?
(9T A : Cr = 24, Co =27, Ni=28) 3

(@)  Write the IUPAC name of the complex [Cr(NHj), Cl;]CL.

(1) What type of isomerism is exhibited by the complex [Co(en)s] 39

(en = ethane-1,2-diamine)

@i) Whyis [NiC14]2‘ pai‘amagnetic but [Ni(CO),] is diamagnetic ?
(At. nos. : Cr =24, Co=27, Ni=28)

@) T 3frerRad & CHZCHO Y aAfifrn 3 W A sargl + fafau :

@ HCN
() H,N-OH
(iii) 99 NaOH ! Juferid § CH;CHO

"
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mewws ) e e g o R 3 g e e vhem fife
() d-ligeh S M B
(if) SO A AT 32
AT

(a) T % oo fafae
() CH;COOH® o # Cl- CH,COOH ¥ Yot a1 2 |
(i) IEIEGIS AT PEHA GYE hl ATHA T <d |
(b) T Tm it sfufEnett & for tamfis adieo fbRay

@ TS I
(i) R Affean

© CHyCH, — CO - CH, - CH; 3it CHyCH, - CH, - CO - CH, % &

SN AASIHE TLe < B 2 2,91

(a), Write the products formed when CH;CHO reacts with the
following reagents :

() HCN
(i) H,N-OH
(iii) CH3CHO in the presence of dilute NaOH
b))  Give simple chemical tests to aistinguish between the ’fo'llowing
pairs of compoundS‘: B
() Benzoic acid and Phenol

'(ii) © Propanal and Propanone

(@  Account for the followingr :

@ Cl- CH,COOH is a stronger acid than CH;COOH.

(i) Carboxylic acids do not give reactions of carbonyl group.
12
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29.

©

()]

(b)

(b)

Write the chemical equations to illustrate the following name
reactions :

() Rosenmund reduction

() Cannizzaro’s reaction

Out of CH3CH2 -CO - CH2 - CH3 and CH3CH2 - CH2 -CO - CH3,

which gives iodoform test ?

ﬁﬂl WE\T i WﬂWﬂT?ﬂﬁQ :
@) W
() Aea A RS Ky

w Tefr foerm # wfv o e § 15 g afer (A gEEm =
60 g M l) i 3 | 38 foeRA 1 WE g I d R (HIeR
ZAM = 180 g A9 ™)) & & faead & W (TwEd) B | @ fa
Ry 3 Ul T T o SRR IR | 23

HAYAT

TR AR WReH w1 figw e yeR @ fomem g & 7 @
QT |

I T (AR EH = 180 g A1) % T faeed W ded @

2, 10% (53WH JER) | 36 fiaga N diaear R Aaw = e 2
(foetem #1 ¥e@ = 1.2 g mLY) 2,3

13
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BEYYS  (a) Defing the following terms:

@) Molarity
(i) Molal elevation constant (Ky)

A solution containing 15 g urea (molar mass = 60 Ag-mo‘l":l_)'per litre of
solution in water has the same osmotic pressure (isotonic) as a solution
of glucose (molar mass = 180 g mol™?) in water. Calculate

“the mass of glucose present in one litre of its solution.

(@ What type of deviation is shown by a mixture of ethanol and
acetone ? Give reason.

() A solution of glucose (molar mass = 180 g mol™) in water is

labelled as 10% (by mass). What would be the molality and
molarity of the solution ?

(Density of solution = 1-2 g mL™Y)

30, () T wiisi ot qu il
@ Crs0> + 20H >
() MnO, + 4H* + 3¢ ——
) T % Frw fafae
(i)  Zn ! YHAY O TE TAT ST |
(i) AU UG TEd A FR T @ |
(i) Mn3*/Mn? W, Cr**/Cr** JU & &8l G E° AR @@ a | 2,3

14
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BEYYS G o oRadesiaa SRk el iRt % del § et
3t Yt % o g il |

() ORIse SEdl % 3 g W AW Ay, S +4 e s
fem & fe wfrg 2 1
i) e wheo B @ Hf
MnO,” + 8H* + 5e~ 3
(v) Mn®* 3 Cr i @ 9 At aggrehm ol it 2 4
(SR AT : Mn = 25, Cr = 24) 5

(@) -~ Complete the following equations :
@ Cr02 + 20H - >

(i) MnO, + 4H* + 3e” >

(b)  Account for the following :
@A) Znis not considered as a transition element.
() Transition metals form a large number of complexes.
(i) TheE° value for the Mn?*/Mn?* couple is much more positive
than that for Cr3*/Cr?* couple.
OR

@)  With reference to structural variability and chemical reactivity,
write the differences between lanthanoids and actinoids.

(i) Name a member of the lanthanoid series which is well known to
exhibit +4 oxidation state.

(i) Complete the following equation :
MnO,~ + 8H" + e~  -»

(iv) Outof Mn?* and Cr®*, which is more paramagnetic and why ?
‘(Atomic nos. : Mn = 25, Cr =24)

15
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